#### **SUPPLEMENTAL AGREEMENT #1**

## **BETWEEN**

#### DEPARTMENT OF TRANSPORTATION

#### STATE OF GEORGIA

#### **AND**

#### **DEKALB COUNTY**

Project Number: AP021-9049-52(089) DeKalb PID – T007108

This agreement is made and entered into	b, by and between the
DEPARTMENT OF TRANSPORTATION, an	agency of the State of Georgia, hereinafter
referred to as the "DEPARTMENT", and DEKA	ALB COUNTY, hereinafter called the
"SPONSOR".	

WHEREAS, the DEPARTMENT and the SPONSOR heretofore on NOVEMBER 5, 2020, entered into an Agreement, hereinafter called the "ORIGINAL CONTRACT", whereby the DEPARTMENT agreed to participate in the SPONSOR'S desire to accomplish the required airport construction improvements to meet the anticipated demand for aviation services for the DEKALB-PEACHTREE AIRPORT; and

WHEREAS, the DEPARTMENT has determined modification of line items are needed to carry out the full scope of work as identified in the Exhibit A, Summary of Construction Items, revised, March 30, 2022. This Supplemental Agreement will be financially neutral and will not increase or decrease the budget; and

NOW THEREFORE, THE PARTIES HERETO mutually agree that for and in consideration of the mutual benefits to flow from each other to the other, the ORIGINAL CONTRACT dated, NOVEMBER 5, 2020, is hereby modified as follows:

I. The Exhibit A is hereby deleted in its entirety and the following is substituted in lieu thereof: Revised Exhibit A, dated March 30, 2022

Except as modified, changed, or amended, all the terms and conditions of the ORIGINAL CONTRACT dated, NOVEMBER 5, 2020, as amended by the Supplemental Agreement shall remain in full force and effect. The covenants herein contained shall except as otherwise provided accrue to the benefit of and be binding upon the successors and assigns of the parties hereto.



IN WITNESS THEREOF said parties have hereunto set their hands and affixed their seals the day and year above first written.

DEPARTMENT OF TR	CANSPORTATION:	DEKALB COUNTY, GEORGIA:
	(SEAL)	DATE:
Commissioner		
ATTEST:		
Treasurer		MICHAEL L. THURMOND, Chief Executive Officer, DeKalb County, Georgia (SEAL)
		PRINTED NAME
	T	Federal Employment Identification
		Number: <u>586000814</u>

# DeKalb - Peachtree Airport Atlanta, GA

**DRAFT** 

# **SUMMARY OF CONSTRUCTION ITEMS**

## **EXHIBIT A-Revised 3/30/2022**

GDOT Project Number: AP021-9049-52(089) DeKalb PID: T007108

Construct Taxiway Improvements - Runway Incursion Mitigation Program RIM-11

							FEDERAL		STATE	
ITEM	SPEC	DESCRIPTION	UNIT	QTY	UNIT PRICE	TOTAL	FUNDS	%	FUNDS	%
Part 1 Federal Funds FY20 - SBGP-033-2020										
1	C-100	Contractor Quality Control Program (CQCP)	LS	1	\$422,670.85	\$422,670.85	\$422,670.85	100%	\$0.00	0%
2	C-105-6.1	Mobilization	LS	1	\$307,488.80	\$307,488.80	\$307,488.80	100%	\$0.00	0%
3	C-105-6.2	Engineer's Field Complex	LS	1	\$20,886.65	\$10,443.33	\$10,443.33	100%	\$0.00	0%
4	P-101-5.1	Asphaltic Pavement Removal, Including Base	SY	8,616	\$6.74	\$58,071.84	\$58,071.84	100%	\$0.00	0%
5	P-101-5.2	Miscellaneous Pavement Removal	SY	19	\$23.75	\$448.64	\$448.64	100%	\$0.00	0%
6	P-101-5.3	Remove Existing Pipe (All Sizes)	LF	372	\$30.66	\$11,405.52	\$11,405.52	100%	\$0.00	0%
7	P-101-5.4	Remove Existing Drainage Structure	EA	3	\$634.58	\$1,903.74	\$1,903.74	100%	\$0.00	0%
8	P-101-5.5	Abandon Pipe In-Place, Flowable Fill	LF	306	\$81.18	\$24,841.08	\$24,841.08	100%	\$0.00	0%
9	P-152-4.1	Unclassified Excavation	CY	11,820	\$17.00	\$200,946.63	\$200,946.63	100%	\$0.00	0%
10	P-152-4.2	Muck Excavation	CY	4,014	\$14.04	\$56,356.56	\$56,356.56	100%	\$0.00	0%
11	P-209-5.1	Crushed Aggregate Base Course	CY	1,876	\$58.58	\$109,903.11	\$109,903.11	100%	\$0.00	0%
12	P-401-8.1	Bituminous Surface Course Placed In Two Lifts	TONS	2,563	\$112.70	\$288,827.56	\$288,827.56	100%	\$0.00	0%
13	P-403-8.1	Bituminous Base Course Placed In Two Lifts	TONS	3,449	\$106.85	\$368,488.25	\$368,488.25	100%	\$0.00	0%
14	P-602-5.1	Emulsified Asphalt Prime Coat	GAL	3,975	\$7.35	\$29,216.25	\$29,216.25	100%	\$0.00	0%
15	P-603-5.1	Emulsified Asphalt Tack Coat	GAL	3,975	\$3.11	\$12,362.25	\$12,362.25	100%	\$0.00	0%
16	P-620-5.1	Remove Pavement Markings	LF	3,767	\$5.15	\$19,400.05	\$19,400.05	100%	\$0.00	0%
17	P-620-5.2	Pavement Marking, Yellow, Reflective	SF	3,063	\$2.06	\$6,309.78	\$6,309.78	100%	\$0.00	0%
18	P-620-5.3	Pavement Marking, Black, Non-Reflective	SF	5,656	\$1.03	\$5,825.68	\$5,825.68	100%	\$0.00	0%
19	D-701-5.1	15" RCP Class III	LF	50	\$53.63	\$2,697.59	\$2,697.59	100%	\$0.00	0%
20	D-701-5.2	15" RCP Class V	LF	117	\$61.55	\$7,201.35	\$7,201.35	100%	\$0.00	0%
21	D-701-5.3	18" RCP Class V	LF	163	\$68.88	\$11,227.44	\$11,227.44	100%	\$0.00	0%
22	D-701-5.4	24" RCP Class III	LF	203	\$71.52	\$14,518.56	\$14,518.56	100%	\$0.00	0%
23	D-751-5.1	Inlets	EA	3	\$8,550.12	\$25,650.36	\$25,650.36	100%	\$0.00	0%
24	D-752-5.1	Pond Outlet Control Structure	EA	1	\$10,007.21	\$10,007.21	\$10,007.21	100%	\$0.00	0%
25	D-752-5.2	Water Quality Structure	EA	1	\$40,552.97	\$40,552.97	\$40,552.97	100%	\$0.00	0%
26	GDOT-163A	Construct, Maintain, And Remove Construction Exit	EA	3	\$2,361.87	\$7,085.61	\$7,085.61	100%	\$0.00	0%
27	GDOT-163B	Construct, Maintain, And Remove Floating Surface Skimmer	EA	1	\$534.37	\$534.37	\$534.37	100%	\$0.00	0%
28	GDOT-163C	Construct, Maintain, And Remove Stone Rip Rap Check Dam	EA	7	\$341.61	\$2,391.27	\$2,391.27	100%	\$0.00	0%
29	GDOT-163D	Construct, Maintain, And Remove Inlet Sediment Trap	EA	24	\$255.49	\$6,131.76	\$6,131.76	100%	\$0.00	0%
30	GDOT-163E	Construct, Maintain, And Remove Stone Filter Ring	EA	1	\$1,171.90	\$1,171.90	\$1,171.90	100%	\$0.00	0%
31	GDOT-163F	Construct, Maintain, And Remove Temporary Sediment Basin	EA	1	\$14,788.91	\$14,788.91	\$14,788.91		\$0.00	
32	GDOT-163G	Construct, Maintain, And Remove Compost Filter Sock	LF	950	\$27.47	\$26,096.50	\$26,096.50		\$0.00	
33	GDOT-167A	Water Quality Monitoring And Sampling	EA	2	\$282.68	\$565.36	\$565.36		\$0.00	
34	GDOT-167B	Water Quality Inspections	MONTH	6	\$565.36	\$3,392.16	\$3,392.16		\$0.00	
35	GDOT-171A	Install And Maintain Temporary Silt Fence, Type C	LF	160	\$8.27	\$1,323.20	\$1,323.20	100%	\$0.00	0%

# DeKalb - Peachtree Airport Atlanta, GA

**DRAFT** 

# **SUMMARY OF CONSTRUCTION ITEMS**

## **EXHIBIT A-Revised 3/30/2022**

GDOT Project Number: AP021-9049-52(089) DeKalb PID: T007108

## Construct Taxiway Improvements - Runway Incursion Mitigation Program RIM-11

							FEDERAL		STATE	
ITEM	SPEC	DESCRIPTION	UNIT	QTY	UNIT PRICE	TOTAL	FUNDS	%	FUNDS	%
36	T-901-5.1	Seeding	AC	11	\$2,091.82	\$23,010.02	\$23,010.02	100%	\$0.00	0%
37	T-904-5.1	Sodding	SY	4,590	\$8.48	\$38,923.20	\$38,923.20		\$0.00	0%
38	T-905-5.1	Topsoil (Obtained On Site)	CY	2,077	\$8.82	\$18,316.94	\$18,316.94	100%	\$0.00	0%
39	T-905-5.2	Topsoil (Furnished From Off The Site)	CY	0	\$33.90	\$0.00	\$0.00	100%	\$0.00	0%
40	T-908-5.1	Mulching	SY	7,000	\$0.23	\$1,610.00	\$1,610.00	100%	\$0.00	0%
		No. 8 Awg, 5 Kv, L-824, Type C Cable, Installed In Trench, Duct								
41	L-108-5.1	Bank Or Conduit	LF	23,785	\$1.29	\$30,682.65	\$30,682.65	100%	\$0.00	0%
		No. 6 AWG, Solid, Bare Copper Counterpoise Wire, Installed In								
		Trench, Above The Duct Bank Or Conduit, Including Ground								i
42	L-108-5.2	Rods And Connections/Terminations	LF	7,515	\$2.27	\$17,059.05	\$17,059.05	100%	\$0.00	0%
43	L-109-7.1	Installation Of Airport Transformer Vault Equipment In Place	LS	1	\$71,133.98	\$71,133.98	\$71,133.98	100%	\$0.00	0%
44	L-110-5.1	Concrete Encased, Electrical Duct Bank, 4-Way 4-Inch	LF	405	\$67.01	\$27,139.05	\$27,139.05	100%	\$0.00	0%
45	L-110-5.2	Non-Encased, Electrical Conduit, 1-Way 2-Inch	LF	6,365	\$2.99	\$19,031.35	\$19,031.35	100%	\$0.00	0%
46	L-110-5.3	Concrete Encased, Electrical Conduit, 1-Way 2-Inch	LF	322	\$18.56	\$5,976.32	\$5,976.32	100%	\$0.00	0%
47	L-110-5.4	HDPE, Electrical Conduit, 2-Way 4-Inch	LF	210	\$87.63	\$18,402.30	\$18,402.30	100%	\$0.00	0%
		Electrical Handhole, Concrete Encased, Type A, Complete In								
48	L-115-5.1	Place	EA	10	\$8,453.60	\$84,536.00	\$84,536.00	100%	\$0.00	0%
		Electrical Junction Structure, L-867E Base, Concrete Encased,								
49	L-115-5.2	Used As Handhole In Turf At Directional Bored Conduits	EA	2	\$1,443.30	\$2,886.60	\$2,886.60	100%	\$0.00	0%
		Electrical Junction Structure, L-867D Base, Concrete Encased,							·	
50	L-115-5.3	Used As Handhole/Pull Box In Turf	EA	15	\$979.38	\$14,690.70	\$14,690.70	100%	\$0.00	0%
		L-861T, Quartz Medium Intensity Taxiway Edge Light On L-867B								
51	L-125- 5.1	Base In Turf, Complete In Place	EA	78	\$902.06	\$70,360.68	\$70,360.68	100%	\$0.00	0%
		L-861, Quartz Medium Intensity Runway Edge Light On L-867B								
52	L-125- 5.2	Base In Turf, Complete In Place	EA	2	\$979.38	\$1,958.76	\$1,958.76	100%	\$0.00	0%
		L-852D, Quartz In-Pavement Taxiway Centerline Light Used As In-								
		Pavement Medium Intensity Runway Edge Light On L-868B Base								l
53	L-125- 5.3	In Pavement, Complete In Place	EA	2	\$3,608.24	\$7,216.48	\$7,216.48	100%	\$0.00	0%
		L-862, Quartz High Intensity Runway Edge Light On L-867B Base								
54	L-125- 5.4	In Turf, Complete In Place	EA	2	\$1,443.30	\$2,886.60	\$2,886.60	100%	\$0.00	0%
		L-850C, Quartz In-Pavement High Intensity Runway Edge Light								
55	L-125- 5.5	On L-868B Base In Pavement, Complete In Place	EA	2	\$3,608.25	\$7,216.50	\$7,216.50	100%	\$0.00	0%
		L-852G(L), Led In-Pavement Runway Guard Light On L-868B								
56	L-125- 5.6	Base In Pavement, Complete In Place	EA	26	\$2,680.41	\$69,690.66	\$69,690.66	100%	\$0.00	0%
		L-858(L) Led Sign, Size 1, 1-2 Characters, Concrete Pad, L-867B								
57	L-125- 5.7	Base, In Turf, Complete In Place	EA	6	\$3,404.12	\$20,424.72	\$20,424.72	100%	\$0.00	0%

# DeKalb - Peachtree Airport Atlanta, GA

**DRAFT** 

## **SUMMARY OF CONSTRUCTION ITEMS**

## **EXHIBIT A-Revised 3/30/2022**

GDOT Project Number: AP021-9049-52(089) DeKalb PID: T007108

Construct Taxiway Improvements - Runway Incursion Mitigation Program RIM-11

				<b>07</b> 1			FEDERAL	0.4	STATE	
ITEM	SPEC	DESCRIPTION	UNIT	QTY	UNIT PRICE	TOTAL	FUNDS	%	FUNDS	%
		L-858(L) Led Sign, Size 1, 3-4 Characters, Concrete Pad, L-867B			<b>AF 100 00</b>	****	****	4000/		00/
58	L-125- 5.8	Base, In Turf, Complete In Place	EA	4	\$5,103.09	\$20,412.36	\$20,412.36	100%	\$0.00	0%
		L-858(L) Led Sign, Size 1, 5-6 Characters, Concrete Pad, L-867B			<b>*</b> = *= **	444.050.70	<b>*</b> * * * * * * * * * * * * * * * * * *	4000/		201
59	L-125- 5.9	Base, In Turf, Complete In Place	EA	2	\$5,979.38	\$11,958.76	\$11,958.76	100%	\$0.00	0%
-00		L-858(L) Led Sign, Size 1, 7-8 Characters, Concrete Pad, L-867B		_	<b>*</b> =	*******	*******	4000/	**	00/
60	L-125-5.10	Base, In Turf, Complete In Place	EA	5	\$5,360.82	\$26,804.10	\$26,804.10	100%	\$0.00	0%
0.4		Remove Existing Taxiway Light, Base Mount With Concrete				40.017.10	<b>***</b> • • • • • • • • • • • • • • • • • •			
61	L-125-5.11	Encasement, In Turf, Complete	EA	61	\$113.40	\$6,917.40	\$6,917.40	100%	\$0.00	0%
		Remove Existing Runway Light, Base Mount With Concrete		_						
62	L-125-5.12	Encasement, In Turf, Complete	EA	5	\$206.19	\$1,030.95	\$1,030.95	100%	\$0.00	0%
		Remove Existing L-850C In-Pavement Runway Light Fixture And		_						l
63	L-125-5.13	Isolation Transformer, Abandon Base In Pavement, Complete	EA	8	\$515.47	\$4,123.76	\$4,123.76	100%	\$0.00	0%
		Remove Existing Transformer Base With Concrete Encasement,								ł I
64	L-125-5.14	In Turf, Complete	EA	1	\$515.47	\$515.47	\$515.47	100%	\$0.00	0%
65	L-125-5.15	Remove Existing Sign And Concrete Sign Pad, In Turf, Complete	EA	19	\$525.77	\$9,989.63	\$9,989.63	100%	\$0.00	0%
		Remove Existing L-804G Elevated Runway Guard Light And								l
66	L-125-5.16	Concrete Sign Pad, In Turf, Complete	EA	8	\$432.99	\$3,463.92	\$3,463.92	100%	\$0.00	0%
67	FAA	Construction Administration	EA	41,620	\$1.00	\$41,619.65	\$41,619.65	100%	\$0.00	0%
68	FAA	Erosion Control Construction Administration	EA	0	\$1.00	\$0.00	\$0.00	100%	\$0.00	0%
69	FAA	Resident Inspection	EA	85,503	\$1.00	\$85,503.00	\$85,503.00	100%	\$0.00	0%
70	FAA	Testing	EA	28,798	\$1.00	\$28,798.00	\$28,798.00	100%	\$0.00	0%
71	FAA	Electrical Construction Administration	EA	0	\$1.00	\$0.00	\$0.00	100%	\$0.00	0%
72	FAA	Construction Safety Phasing	EA	301,300	\$1.00	\$301,300.00	\$301,300.00	100%	\$0.00	0%
73	FAA	PAPI Utility relocation	EA	49,381	\$1.00				\$0.00	0%
		Total Part 1 Federal Funds FY20				\$3,255,216.99	\$3,255,217.00		\$0.00	
		Total Project Cost				\$3,255,216.99	\$3,255,217.00		\$0.00	i

 FAA Federal Grant & FAIN #
 Federal Award Date
 Amount
 Fund Source

 3-13-SBGP-033-2020
 9/1/2020
 \$3,255,217.00
 22156

Total Maximum Obligation of Federal and State Funds this Contract: \$3,255,217.00